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T -1/ PART -1

[3]

[A]

91 fa 9 [3Ensme/CHILD DEVELOPMENT AND PEDAGOGY
3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

frfafeg § § S9-91 SUHE & S
T 78§ 7

(1) uRfw feemy g

(2) T srae

3) ‘RE 4 B’ a1y

@) FRE sg/ed oy

F T e TR TR 71 e § 7
(1) 209 25 2) 209 9=
(3) 259 36 4) 369 51

frefafe & @ @A fae
AEINTIGRTT &l TpT & o 78
T B 7

(1) 9MvT% &9 8 9999 QX dh &
FAER Bl WG

(2) gEioTs ®1 & |G e @
HET

(3) |HISTS AT & foehr

(4) MBS FIER

g% M ThH THR S FEROCE b,
TIAe, IO 3 B UM S ®,
e & ?

(1) Tierhl i
2) i+ s

(3) dfpeh-TMT i
(4) &0 g

Level-2/4208

1.

2.

Out of the following which is not the
other name of childhood ?

(1) Elementary school age

(2) Smart age

(3) Pre-gang age

(4) Gang age

What is the approximate 1.Q. range of
'‘Mangolism' mentally retarded children ?

(1) 20to 25 (2) below 20

(3) 25to 36 (4) 36to 51

Out of the following alternative which
does not come under processes in
socialization ?

€]

learning to behave in
approved ways

socially

2

playing approved social roles

3)
“)

development of social attitudes

egocentric behaviour

A type of intelligence which is mostly
visible in dancers, athletes, surgeons
etc., is known as what ?

(1) Bodily-kinesthetic intelligence
(2) Spatial intelligence
(3) Logical-mathematical intelligence

(4) Musical intelligence

P.T.O.



[A]

frr & @ @9-a1 daos g ® a«
7 &

(1) Jerft arvean

(2) STTH-SARMIRET

(3) Wl
(4) G I GeEIed BT

U el g ® B} SN W §s =
S99, A, 9%, JgeT S & SR
W 0% T 9= e & HEed 9y |
5 TR & S B T FeT S 8 7
(1) HarTees diET

(2) ey g

(3) TEHEHHS e

(4) eI HiET

e & @ $i9-a1 a6fes e
g wheT 78 B ?

(1) et der aderr

(2) STt STEHl TETT

(3) fareern e

@) [\ MR A

SIThISR & s & offan FEq
A Ra g & fFa aRRafos d=
% &I & ?
(1) HrEshIa=
(2) Hhra=
(3) "=
(4) T

Fled & ogER A e @ @
T ofaen EH PR @R oot
A # aaHM H safad @it
qevSl afeEr et @ e &7
H Sfeehar @ BTG STaRT T T B 7
(1) A F JF TR &

(2) Afcerdr F TEREET &

(3) Aferpa F U TEREE &Y

(4) Sfywar # W /WREG &R
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[4]

Which of the following is not an
element of emotional intelligence ?

(1) Entrepreneurial competence
(2) Self-motivation

(3) Empathy

(4) Handling relationships

A student learns new concepts such as
'Carnivorous animal' on the basis of
words known by him such as tiger, dog,
lion, leopard etc. This type of learning
is known as what ?

(1) Combinational learning

(2) Subordinate learning

(3) Correlative learning

(4) Superordinate learning

Out of the following which is not the
type of group non-verbal intelligence
test ?

(1) Army Beta test

(2) Army Alpha test

(3) Chicago test

(4) Revence progressive matrices

According to Bronfrenbrener, law and
customs are examples of which of the
following ecological system of child ?
(1) Micro system

(2) Macro system

(3) Meso system

(4) Exo system

According to Kohlberg "a stage of

moral development during which
individuals judge morality largely in
terms of existing social norms or rules"
is known as which level of morality ?
(1) preconventional level of morality
(2) conventional level of morality

(3) postconventional level of morality

(4) unconventional level of morality



10.

11.

12.

13.

14.

I U B BROT TG B -
(1) RS I

(2) T

(3) STEA

(4) e =R e

frefafeg & @ @M@ G R
et 7ef & °

(1) Jgesy

() FEies

(3) =&

(4) Gy e

frfofag & @ -1 ey o9 e

N Ve YA EfhAT  TeRr” bl

frQrar i gt & °

(1) S== § ‘GRO-99E g’ T ‘a8
® wWiyE g fer et
BT |

(2) Sh H G % fOEid & owa
HTT, T am &1 e &N

(3) SITh oYY URAST & Hidae @9 §
T ST YT 8 |

(4) e farl & A aew a9m 8§
e B

H-GT SRR HT Gk & & 7

(1) STEaggday  (2) TE<Iayfd

(3) G (4) wicared

AfrdE THES H e fafy ®

(1) e

(2) W&

(3) AT

(4) STeT-FERRe
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[5]

10.

11.

12.

13.

14.

[A]

Which is not the cause of delinquency ?
(1) Physical defect

(2) Poverty

(3) Failure

(4) Proper home environment

Out of the following which is not
related with 'Cognition' ?

(1) Perception

(2) Thinking

(3) Walking

(4) Concept formation

Out of the following which alternative

shows characteristics of "Concrete

Operational Stage" given by Jean Piaget ?

(1) Development of idea of 'cause-
effect relationship' and ‘'object
permanence' in children.

(2) The child gains understanding of
principles such as conservation
logical thought emerges.

(3) The child begins to represent the
world symbolically.

(4) Becomes capable of creating
several forms of logical thought.

Which is not the component of
motivation ?

(1) Needs (2) Rote Memory
(3) Drives (4) Incentives

Direct method of personality adjustment
is:

(1) Sublimation

(2) Projection

(3) Regression

(4) Removing of hurdles

P.T.O.



[A]

15.

16.

17.

18.

19.

20.

s faeE & CFEST s
e’ @t fhae awartaa fear ?

() 99 IS (2) d9 aEieeh
(3) Vo THo T (4) Plewsd

‘T gEMSl B QEAdl [ HHRD
T | aRad w0 el 8 7
(1) STHATETT  (2) FHIISEBO
(3) HYHBT  (4) HTEA

N i 3 Homew fawm 3 fg

TS H AT F -

(1) & & % A & ©N oo
RN B

(2) F® I B & ufd 99 a we
foepféra @] |

(3) & o 7 #H WRA B AT |
U9 1 99 T9NH |

4) A B e Bl & ufa e
701 R & |

I SIS T i T & 7

(1) 28 6 a9 (2) 67 12 a9
B) 4377 (4 11¥15a

Tdo Elo 3Eo SRR g % Jadd
B ?

(1) aaﬁi‘l?’l

(2) e

(3) W TG A

@) fwd

g6 g g & U R g=m @
T feRar T ot ?

(1) st AR ewan

(2) TENfEE TS e

(3) ey MR e

(4) T=1 AR S
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[6]

15.

16.

17.

18.

19.

20.

Who proposed "Sociocultural Theory"
of cognitive development ?

(1) Jean Piaget (2) Lev Vygotsky
(3) J.S.Bruner (4) Kohlberg

"Incorporation of new information into
existing mental frame works" is known
as what ?

(2) Accommodation
(3) Equilibration (4) Organisation

(1) Assimilation

For the emotional development of his
pupil the teacher should :

(1) Try to usurp the place of pupil's

parents.
(2) Develop love and affection for his
pupil.
Take a loveable attitude towards
the mischief of the pupil.

3)

Show favours to few selected

pupils.

“)

What is the age group of late childhood
stage ?

(1) 2to 6 years
(3) 4to 7 years

(2) 6to 12 years
(4) 11to 15 years

Who was the propounder of N. D. L
motivation formula ?

(1) McDougall

(2) Hilgard

(3) Blair and Jones

(4) Maslow

Which word was used by Thurstone for
intelligence' ?

(1) Primary Mental Abilities

(2) Universal Mental Abilities

(3) Neutral Mental Abilities

(4) Higher Mental Abilities



21.

22,

23.

24.

25.

frfafag & § @98 Tafafveas @
femdt & welEcE/AedRe T B
S 78 T S " ?

(1) g R

(2) sAfrgfT T g

(3) GO IS

(4) TreTEE faw

T B B 1 I 1 1 T B 51 e
fros BT @ TR 7

(1) e (2) FHed

(3) UEETErel 4) <

“grTh B JE GEE 6 IR 9 fRAl o
d, @ off SHH @ # [T el SEem”
IR B T THR B TIH B T Bel
ST 8 7

(1) fT gea

2) T Reran

(3) T Graar

4) T wiessd

feell & e * T GEM @
e [h8 T H Tedish FHoal © ¢
(1) |aq e

(2) I g

(3) STE (1) TG (2) Il

(4) U (1) T (2) & &

Fret & @ Si9-d e g 78 8 7
(1) dEe=

(2) g

(3) N ==

(4) el
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[7]

21.

22,

23.

24,

25.

[A]

Out of the following which activity/area
may not be considered as co-scholastic
aspect of learner ?

(1) Social skill

(2) Attitude and values
(3) Creative skill

(4) Curricular subjects

The first psychological laboratory was
established by whom ?

(1) Galton (2) Cattell
(3) Pestalozzi (4) Wundt

"Children's understanding that their
gender will not change even if they
adopt the behaviour, dress, or hairstyles
of the other gender". This type of
children's understanding is known as
what ?

(1) Gender identity

(2) Gender stability

(3) Gender consistency

(4) Gender stereotypes

Assessment of all-round development

of the child's personality is known as
which type of evaluation ?

(1) Continuous evaluation

(2) Comprehensive evaluation
(3) Above (1) and (2) both
(4) Neither (1) nor (2) above

Which of the following is not a defence
mechanism ?

(1) Identification
(2) Compensation
(3) Rationalisation

(4) Association

P.T.O.



[A]

26.

27.

28.

29.

30.

‘Sfc | fF@ & M & 9% AR |
ST & SN e foepreTe orawen @l
fQwar & ?

(1) G- STaeen

(2) U4 Gk ST

(3) o HRkAHE e

(4) SNveniie dGfpares Srawe

M 1 98 VR o foEmi § ©
SRR G HerEr § Y fEw A
g FEH @ SGFd g dE @S
YT &, B P Fed € ¢

(1) TEH GE

(2) refgel e

(3) eAfmree Hies

(4) YT HE

frfafed & @ #9-1 3R a0 9ed
o &Y o= 1 3 X & 7
(1) HEeiEs GorleHe

(2) IUIEH GoITcHD

(3) ARG gD

(4) STfashrll GoTeHen

frfafag & @-ar FeReen & o

T 78§ 7

(1) FreEmEe e NeEen & &9 &
RIREIR]

(2) TS STae

(3) ¥, q9E AT [T @ oTaw

(4) T orae

B HEN @ Qe ®
(1) Hessiaan

(2) STAGE™E § FH

(3) HameH SARerRar

(4) A et

[8]

26.

27.

28.

29.

30.

'Out of sight out of mind is
characteristic of which of the following
developmental stage ?

(1) Sensory-motor stage

(2) Pre operational stage

(3) Concrete operational stage
(4) Formal operational stage

A type of learning in which students try
to learn by emerging new rule through
given learning material, is known as
what ?

(1) Rote learning
(2) Meaningful learning
(3) Reception learning

(4) Discovery learning

Out of the following which is fourth
level of Taylor's level theory of
creativity ?

(1) Expressive creativity
(2) Productive creativity
(3) Innovative creativity

(4) Inventive creativity

Out of the following which is not the
other name of Adolescence ?

(1) Transitional period of childhood
and adulthood

Problem age
Stage of stress, strain and storm
Smart age

2)
3)
“)

Characteristic of good adjustment is :
(1) Tolerance

(2) Lack of confidence

(3) Emotional unstability

(4) Irregular life habit

Level-2/4208



ArT- 11/ PART - I

[9]

[A]

A1 (R=T @ 3fISH) / LANGUAGES (HINDI & ENGLISH)

[ =<t/ HINDI ]

31 : =it goal & Gav 37 & [ qae afEd ey g

31.

32.

33.

AT B G O T B - I
HRE B ISR 8 7

(1) FHBH
(2) Gd9 FRD
(3) EYEN FHRb

(4) SAYHT FH

it gie § AYS fGehed JHm
(1) o

(2) SfeTasm

(3) geargarE
(4) JIW

Syt gfte § oyl fec
gifey :

(1) ForeT-Foe

(2) dR-AARA

(3) didi-afe

(4) a9i-uIes

Level-2/4208

34.

35.

36.

37.

Tg & 3T | ST [9eed Jaisy ¢

(1) AR + 39 = faameia
(2) 3 +TA = TA

(3) T + T =T

(4) TH® +T = aHI®D

= 4 § 59 fAew § ‘9 9= @
faQroei s foher T & °

(1) ™ & ‘@ @ = |
(2) S IEF ‘FH G G |
(3) ‘@ & 9 U % |

4) ‘T AT & I T

fra faees § g8 9 # SIE T8
g7
(1) qeamed

(2) FTA
(3) BERET

(4) SfErargre

o @t 3fte & 39w @ Bifex -
(1) -3

(2) TSI

(3) Ufessh-Jfrard

(4) TG

P.T.O.



[A]

38.

39.

40.

41.

fpe fhcq d ‘o IUET @ TENT g
g7

(1) SAraf~ieh
(2) afereA
(3) AT
(4) ST

o amm & ‘omem’ (faemed) afq @
SERT g © 7

(1) g9 oFR Fea a § T T &< |

(2) 99 B SN H AEGT @A
MRy |

(3) Tl & =Ry {6 98 ¥ * T
i B T R

(4) ¥ arear § f6 g W 6 )
Qe % gfte @ o e gig
(1) el — S, fas, TR

(2) S - FTH, U, R

(3) a8 — A=A, AW, HH

(4) RO — L, @, q
‘Areared’ drell foehed g

(1) A R el G TR |

(2) THS § A9 Tewn o 2

(3) ARG &R 91 9IS BT T |
(4) Heel I ITH AT

[10]

42,

43.

44,

45.

fore a@ # ‘FaRT @ SRR gaT © °

(1) T IR 99 AR @ @9 © 2|

(2) FHaar ot Rl s W@ R

(3) TH A &Y A & B |

@) T 90 g & N SEs ewd q
3 T

fpe famea # fowrt @fr @1 @ 7@
ger & ?
(1) foeg=
2) Rrer
(3) draEd

(4) 9g

‘THe | IR Y g - a9 § UgE
fopaT-fager @1 9% 3F@ Ff -

(1) YRETErES

(2) HIArED

(3) ifcrares

(4) A=

Thae § Sgaed o9 fohedl H ST
g
(1) S St

(2) ag-agy
(3) TG-St
ORI SIE
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[A]

[ 37350 / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

49.

50.

Choose the correct synonym for the
word given below :

Gallant
(2) Impolite
(4) Fearful

(1) Valiant
(3) Rude

Choose the correct modal.

Some people .............. ski better than
others.

(1) must (2) can

(3) could (4) should

Fill in the blank with appropriate
preposition.

Ipaid thebill .............. cash.
(1) in (2) at
(3) for (4) with

Choose the correct word for the sentence.
A man who 1s womanish in his habits.

(1) Arsonist

(2) Epicure

(3) Effeminate

(4) Fealty

Choose the correct antonym for the

word given below :
Bankrupt

(1) Penniless

(2) Insolvent

(3) Ruined

(4) Solvent

Level-2/4208

51.

52.

Fill in the blank with the correct
option :

doing the cooking, I look
after the garden.

(1) Beside
(2) However
(3) Besides

(4) Therefore

Choose the most appropriate form of

Indirect speech for the given sentence.

The teacher said to Hari, "Why did you

not do your homework yesterday" ?

(1) The teacher asked Hari why had he

not done his homework the

previous day ?

(2) The teacher asked Hari why he had

not done his homework the

previous day ?

(3) The teacher said to Hari why had
he not done their homework the

previous day ?

(4) The teacher said Hari that he had

not done his homework the

previous day.

P.T.O.



[A]

53.

54.

55.

56.

Choose the correct passive construction
for the sentence given.

We visited the zoo of Jaipur on last
Sunday.

ey

Zoo of Jaipur were visited by us on
last Sunday.

(2) On last Sunday the zoo of Jaipur

was visited by us.

3)

We were visited the zoo of Jaipur
on last Sunday.

C))

Zoo of Jaipur was being visited on
Sunday last by us.

Cooking is his hobby.

The underlined word is used as a :
(1) Verb

(2) Gerund

(3) Participle

(4) Infinitive

Choose the correct determiner.

................ knowledge is a dangerous

thing
(1) The little (2) Little
(3) Alittle (4) The few

Choose the correct preposition.

I had not slept or eaten anything

properly ................ two days.
(1) since (2) from
3) in 4) for

[12]

57.

58.

59.

60.

Fill in the blank by choosing the correct
option.

The Headmaster and the Secretary
................ present in the meeting.
(1) was (2) were

(3) was being (4) were being

Choose the correct form of verb.

Did you not ................ about the
world Atlas.

(1) knew (2) known

(3) know (4) knows

Choose the correct option for the

underline word.

Our parents have raised us to be a good

citizen.

(1) Brought up

(2) Brought by

(3) Brought out

(4) Brought down

Choose the word which 1is spelt
correctly.

(1) Commited

(2) Committed

(3) Comitteed

(4) Committeed

Level-2/4208
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[A]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A ARG, dliche SARTEHCT R | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]
& : [t gea & gav &7 & frg qaw o [AEe g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

=T e &l g Y

WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

(G e = A 1 e ol | < G L

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV (4) OVZ

Qzﬁmaﬁaﬂms,soo%,qhq@ﬁ
9 @9 20% gw g, AR a9 Ied
25% gi& g, d & 99 a1
SEeE fhel Rl ?

(1) 10,950 (2) 12,750

(3) 11,950 (4) 12,550

18,000 1 W 2 ¥ % 10% daAM® &<
¥ Tpghe T 9 |IERET S H SR
BT ?
(1) 150 &9
(3) 210 &)

(2) 180 BT
4) 316 W

14,500 &9 HERO 9 W 6 a9 #
21,460 9 B I &, TN B s X
B ?
(1) 4%
(3) 6%

2) 10%
4) 8%

Level-2/4208

61.

62.

63.

64.

65.

Complete the following Series :
WE, SG, PJ, LN, IS, ?
(2) FX
4) EX

1) FZ
(3) EY

Find the next term of the following

letter series :

DHL, PTX, BFJ, .....
(1) CGK (2) KOS
(3) NRV (4) OVZ

The population of a town is 8,500. In
first year it was increased by 20% and
in second year again increased by 25%,
then what is the total population after
two years ?

(1) 10,950 (2) 12,750
(3) 11,950 4) 12,550
What 1s the difference between

Compound interest and Simple interest
on the amount of Rs. 18,000 in 2 years
with the rate of 10% per year ?
(1) Rs. 150 (2) Rs. 180

(3) Rs. 210 (4) Rs. 316

The total amount of Rs. 14,500 with
simple interest in 6 years is Rs. 21,460,
find out the Rate of interest per
annum ?
1) 4%
3) 6%

(2) 10%
4) 8%

P.T.O.



[A]

66.

67.

68.

69.

70.

71.

Th PIeeR @ @l T AT 20
He, 21ﬁaw29rﬁa§m§w@aw
15 593 Ufgert Hiex #f & d Bad e
H G F BT ?

(1) 2,100 59
(3) 3,150 59

% fhebe A9 H, 6 Raanieal & ofd ™
e 36 dt) A} T @ ue Rawer A
16 ¥ T9T &, @ 99 Reenisd @
Ad @ g A & ?
(1) 24 (2) 30
(3) 36 4) 40

Rr=if S B O X

24, 60, 120, 210, ?
(2) 270
4) 500

(2) 1,890 T
4) 2,500 5

(1) 336
(3) 512

Th 99 TA1 T PN B AR B AU
6 :7%, 3R FX 4 H T 364 Rl A
g0 T B, A 9 H A A B

(1) 60 fRdEer  (2) 72 fRdieer
(3) 78 fRHEeT  (4) 84 fRHi/Ee
fhdl didfae AT ¥ GRANT &I
UOBSH %F&l 9T, TIME & FNJU @&l
19, @ PRIDE & &1 &al S ?
(1) QSJEF
(3) FEJSQ

(2) OQHCD
(4) TPMED

q deEet & g 3 : 5 ©, ¢ S
B 240 B, SRl & SRR F
3T ?

(1) 60
(3) 120

(2) 100
4) 90

Level-2/4208

[14]

66.

67.

68.

69.

70.

71.

The sides of a triangular farm are 20 m,
21 m and 29 m respectively. How much
will be total expenses for cutting the crop
at the rate of Rs. 15 per square meter ?

(1) Rs.2,100  (2) Rs. 1,890
(3) Rs.3,150  (4) Rs. 2,500

Average runs of 6 players in a cricket
match was 36. If one player made 16
runs, then what is the average runs of
remaining players ?

(1) 24 (2) 30

(3) 36 4) 40

Complete the following series :

24, 60, 120, 210, ?
(2) 270
4) 500

(1) 336
(3) 512

The ratio of speeds, of a Bus and Car is
6 : 7. 1If car covers 364 Km distance in

4 hours, what is the speed of Bus ?
(1) 60 Km/h (2) 72 Km/h
(3) 78 Km/h (4) 84 Km/h

In a code language GRANT is written
as UOBSH, TIME is written as FNJU
how is PRIDE written in that language ?

(1) QSJEF (2) OQHCD
(3) FEJSQ (4) TPMED

The ratio of two numbers are 3 : 5 and
the addition of those numbers is 240,

what 1is the difference of those
numbers ?

(1) 60 (2) 100

3) 120 4) 90



72.

73.

74.

75.

76.

77.

frel | & 60% @ 3/5 AT 36 B, ar
& H A9 F eRm °

(1) 60 (2) 100

(3) 120 4) 150

gi& DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, @ CAR =?

) 3 2) 6
3) 8 4) 16

A T B e} fpelt @M @ 15 [’ A
T HYd 2, el B aham 3@ 20 &
T g BT 8, A SThal 39 HH &
frw e & @M ®em ?

(1) 60 (2) 45

(3) 40 4) 30

qSH B TH U H oG S BR @
168 WM W @l 2| f9wm e B8R @
185 WM X 81 MU o & adf o
11§ @ W 3, X | § @ 8r
F AN TR WE W Bl 9 U F
fre Te® @S g E ?

(1) 41 (2) 42

(3) 48 4) 49
frfafed & @ H9-a1 o7 af 7 ?

(1) 1800 (2) 1900

(3) 1700 (4) 2000

fpell Widicd W # "go home" H "ta
na" HF ST "sweet home" FH "na ja"
%8l ST T "Sweet and Sour" & "pa sa
ja" e ST, A "Sour" FH HIS T BFM ?
(1) pa (2) sa
(3) padl sa (4) na

Level-2/4208
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72.

73.

74.

75.

76.

77.

[A]

If 3/5 of 60% of a Number is 36, then
the value of the number is :
(1) 60 (2) 100
3) 120 4) 150

If DRIVER = 12, PEDESTRIAN = 20,
ACCIDENT = 16, then CAR =?

1 3 2) 6
3) 8 4) 16

A and B together can do a work in 15
days, if B alone can do that work in 20
days. Then how many days will A take
to do same work alone ?

(1) 60 (2) 45

(3) 40 4) 30

Anil is standing at 16th position from
the left end in a row of boys. Vikas is at
18th position from the right end. Gopal
is 11th from Anil towards the right and
3rd from Vikas towards the right end.
How many boys are standing in this
row ?
(1) 41

(3) 48

(2) 42
4) 49

Which of the following is a leap year ?
(1) 1800 (2) 1900
(3) 1700 (4) 2000

In a certain code language "go home" is
written as "ta na", "sweet home" 1is
written as "na ja", "Sweet and Sour" is
written as "pa sa ja", then how "Sour" is
coded as ?

(1) pa
(3) paor sa

(2) sa
(4) na

P.T.O.



79.

80.

81.

(1) 10 Tt

) 12 feh

(3) 14 T

(4) 15 Tt

7 :20 e W o @ 9 g 4@ B
& o e e & T g ?

(1) 160° (2) 100°
(3) 260° 4) 120°

R T FF & IR W g8 ey
HIF-AT B 7

FYT :
(A) & T WS |
(B) 3B R @ ¥ |

s

(1) B W @ g
(2) FP TEN T T T
(3) FIE AT T T T
(4) FB T ™ 2|

Hie TR RTs ©

(1) Ui i & o
(2) Ufcerids #7ed & fow
(3) ™ 9@ & I & g
4) =l & forg

Level-2/4208

78.

79.

80.

81.

Two persons depart from their office
towards their houses. First person goes
8 Km in north direction and second
person goes 6 Km in East direction and
reach their houses, find out the direct
distance of their Houses ?

(1) 10 Km
(2) 12 Km
3) 14 Km
4) 15 Km

What will be the angle between minute
end and hour end in a Clock at 7 : 20 ?

(1) 160° (2) 100°
(3) 260° 4) 120°

Which is the correct conclusion based
on given statements ?

Statement :
(A) All leaves are roots.
(B) Some roots are branches.

Conclusion :

(1) Some leaves are branches.

(2) Some branches are not roots.
(3) No branch is leaf.

(4) Some roots are leaves.
Sohna town is famous for :
(1) Historical Lake

(2) Historical Palace

(3) Hot water Springs

(4) Gardens



[17] [A]

82. zRaPm # fha gsmEtE WHed (H“TI"T) 82. How many Administrative divisions are
g7 there in Haryana ?
(1) IR (1) Four
2) U= (2) Five
3 = 3) Six
4) qq (4) Seven
83. BRI & ™ 9 T 83. State animal of Haryana 1is :
(1) &1 971 (1) Black buck
(2) @ng E (2) Asiatic Lion
(3) i (3) Chinkara
(4) 9™ (4) Tiger
84. yam Rz ¥ ot & few @@ famie 84. Where Pratap Singh revolted against the
fepar o ? British ?
(1) Ve (1) Rohtak
(2) & (2) Jind
(3) ST (3) Ambala
(4) ferar (4) Sirsa
85. AIFH HAT "5[%\“3?{2{6 EI'ETV % ? 85. Where is the National Cancer Institute
situated ?
(1) Ham (1) Sampla
(2) #&w (2) Meham
(3) sEEn (3) Badsa
(4) FAER (4) Kalanaur

Level-2/4208 P.T.O.



[A]

86.

87.

88.

89.

90.

ghaen § ‘Y JErel-ae gerell i’
H S TGS BT © 7

(1) &g
(2) @l Hferp
(3) YT TAEdam
(4) |E Sedr

fore ST g@r Todl & |1y di @ 78
P & -

(1) gHud
(3) @

(2) Vedh
(4) qad

SIS I R | O R R 4 R
g SR R

(1) g
(3) wfest
AT H R, W U o &+
% foem 7ER

(1) ToamH
(2) A
(3) BIEER
4) R

TEIM e O 6 @ defd © 7

(2) T

(4) "AR®HST

(1) 3 =™
(2) romEd
(3) TR
(4) FUEE

[18]

86.

87.

88.

89.

90.

Who is the brand ambassador of 'Beti
Bachao-Beti Padhao
Haryana ?

Campaign' in

(1) Anu Kumari

(2) Sakshi Malik
(3) Kalpna Chawala
(4) Saina Nehwal

The district which does mnot share

boundary with other states is :

(1) Panipat (2) Rohtak

(3) Rewari (4) Palwal

The river, which makes border between

Haryana and Uttar Pradesh :

(I) Yamuna (2) Ganga

(3) Sahibi (4) Markanda

The city of Haryana, which is not part
of National Capital Region :

(1) Gurugram
(2) Sonipat
(3) Faridabad
(4) Hisar

Gurugram is related to which ancient
Guru ?

(1) Ved Vyas
(2) Dronacharya
(3) Parashuram

(4) Kripacharya

Level-2/4208
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[A]

AT - IV / PART - IV
%l / ARTS

31 : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

o1.

92.

93.

94.

‘gSFT § after AT @ ord ¥
(1) ST

(2) 9@

(3) AE

(4) R F@ T F

M g Ao § fafa fer mr g 7

(1) werdt e
(2) g Al
(3) oTgsr A
(4) TSEE AR

ARG H Tedl X dfeT REear gwid &
ge fepe feRar ?

(1) Fw

(2) TR A

(3) g Al

(4) ¥

T ARG THEAE FABR ©
(1) Fo Fo &K

(2) To THo &=

(3) THo Tho Za

4) =R T

Level-2/4208

o1.

92.

93.

94.

In 'Shadang' Varnika Bhang means :
(1) Form

(2) Expression

(3) Similitude

(4) Use of Brush and Colours

Razmnama has been painted in which
style ?

(1) Pahari Style

(2) Mughal Style

(3) Apbhransh Style

(4) Rajasthani Style

Who used the wash painting method for

the first time in India ?
(1) Company School
(2) Rajasthan School
(3) Mughal School
(4) Bengal School

The first Indian impressionist is :
(1) K. K. Hebber

(2) N.S. Bendre

(3) M. F. Hussain

(4) Yamini Roy

P.T.O.



[A]

95.

96.

97.

98.

99.

TH TS W R
(1) @it

(2) af=

(3) gHIEER

4) T & B3 T
IRAg e & B oF @ == 6
fogm = &t ?

(1) S

(2) JMEX qived
(3) ™

(4) FemeEn

Frefefed & & @-ar ™ 8 ?

(1) =
(2)
(3) drem
4) 3 g

yare @ ot ®
(1) i

(2) TR
(3) &

(4) e

Tl @ B @Oih [hE EE bl
ety | o ?

(1) 3T

(2) SEFR

(3) SmESTel

(4) ssX

Level-2/4208
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95.

96.

97.

98.

99.

A rhythmic line is :
(1) Straight

(2) Horizontal

(3) Curved

(4) None of these

Who has discussed about the six limbs
of Indian painting ?

(1) Jaidev

(2) Yashodhar Pandit
(3) Kalidas

(4) Chitralekha

Which is a warm colour among the

following ?

(1) Orange
(2) Red

(3) Yellow
(4) All of these

Rhythm means :
(1) Movement
(2) Space

(3) Form

(4) Emphasis

Whose ruling period was the Golden
Era of Mughal School ?

(1) Akbar
(2) Jahangir
(3) Shahjahan
(4) Babur



100.

101.

102.

103.

104.

TRl (Impasto) TeAIE arad T
(1) e |
(2) B T |

(3) ek &
(4) B 9

FA AN TS T q T’ W B AT
S

() T ai

(2) STEshIAies

(3) dgavig s

(4) @9 3 W at

(1) <o S 8-

(2) @ yHE W A S}

(3) @7 IEE &

(4) @Er Ay g

T S YA HOE & ag
EEEESIEN

(1) T

(2) = o=

(3) @y fort

(4) wpfr ot

SYART Hel B HEG B

(1) Yfcieber &

(2) ar&gwaT |
(3) &ha |

4) S |

Level-2/4208
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100.

101.

102.

103.

104.

[A]

Impasto technique is related with :
(1) Painting

(2) Print Making

(3) Sculpture

(4) Photograph

To paint with black and white colour is

known as :

(1) Monochromatic
(2) Bichromatic
(3) Polychromatic

(4) Achromatic

Triumph of labour sculpture is made by :
(1) Nandlal Bose

(2) D. P. Roy Choudhury

(3) Kanu Desai

(4) Sankho Choudhury

What did Nandlal Bose paint for the
tent (Pandal) of Haripura Congress ?

(1) Posters

(2) Portraits

(3) Object Drawing
(4) Landscape

Useful Art belongs to :
(1) Sculpture

(2) Architecture

(3) Music

(4) Jewellery

P.T.O.



[A]

105.

106.

107.

108.

100.

oo el foRhell @ Iad H SR
et ?

(1) = el & @ A

(2) IHR % FIA H

(3) AT B BT F

(4) e F P A

1 e fees & i e ?
(1) Tho To AGeR

(2) THo &

3) @

(4) 9™ g} 9

s T ¥
(1) g

(2) @

(3) e

4) 7 |

Wy 3R X fE osEen e oow H
& fopar ?
(1) 60 a9
(2) 40 a9
(3) 65 Ty
4) 70 a9

e ok oW fEm & [ mew
AR BET & WEW ¥ W ™ e
FETT & :

(1) @9 S

(2) 3 I

(3) TFfT fo=t

(4) SiEs THIA
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105.

106.

107.

108.

109.

The Decline of Mughal School of

paintings started in the period of :
(1) Dara Shikoh

(2) Akbar

(3) Aurangzeb

(4) Shahjahan

Colour theory was given by :
(1) F. A. Taylor

(2) N. Knobler

(3) Plato

(4) Shyam Sundar Das

Primary colour are :
(1) Yellow

(2) Red

(3) Blue

(4) All of these

Rabindranath Tagore started painting at
the age of :

(1) 60 years
(2) 40 years
(3) 65 years
(4) 70 years

The object which is drawn through light
and shade, to look realistic and solid, is
called :

(1) Three Dimensional
(2) Two Dimensional

(3) Nature Painting
(4) Life study



110.

111.

112,

113.

114.

T Y@ WY ST SR B @
T IO HIAT B -

(1) a8 (2) TR
(3) B 4) e

frfofaa € & & F9-a1 2= T 7@
g7

(1) e

(2) '

(3)

(4) &R S

Pl T= B URET TES TAW e
gem ?

(1) e

(2) WETHRA

(3) Fag

(4) AgFA

ARG § Hougd aq TS B A
fpe fopam ?

(1) STEHIEATT MR

(2) W SR

(3) TH=AY T

(4) farfoes =y

A Tt of, g U @ s« R d
ferar & o o R

(1) qRd=
(2) PAAR
(3) frerdfea
(4) gt
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110.

111.

112.

113.

114.

[A]

Generating the effect of light and shade
by drawing close line is :

(1) Casting
(3) Hatching

(2) Carving
(4) Engraving

Which one is rot a cool colour ?

(1) Blue

(2) Green

(3) Red

(4) Cobalt Blue

The word 'ART' was introduced first
in:

(1) Ramayana

(2) Mahabharata

(3) Rigveda

(4) Atharvaveda

Who started Wash Technique first time
in India ?

(1) Abnindranath Tagore

(2) Rabindranath Tagore

(3) Gaganendranath Tagore

(4) Kshitindra Nath

The liquid which is applied upon the
surface covered with pastel colour for
stability is :

(1) Turpentine

(2) Coaltar

(3) Fixative

(4) Impasto

P.T.O.
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115

116.

117.

118.

119.

120.

FIE W A9 THL T Bl Ay @ Fed
g

(1) (2) SFE
(3) AT (4) Tqfew

fafr femrer wfer a1 oo g -
(1) o= A &

2) g AT |

(3) eIt et A

(4) =T B TS G

A FeRreha &1 39 Fel § garl ¢
(1) e

(2) TN REEd

(3) i (Scroll) et

4) TR

T § H-9 @RS & T o 7

(1) et 2) e
(3) &ha (4) aTEGHeT
R FeEpa (Piffes) & o fee e
& T R S B ?

(1) EEax (2) a9
(3) dEA (4) BT

% T H 8 T RE A P B
(1) &g

(2) Thd ==

(3) T

(4) TR
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115.

116.

117.

118.

119.

120.

The method of dying cloth by applying

wax is known as :
(1) Collage
(3) Bandhej

(2) Etching
(4) Batik

The Wall Painting Method started

from :

(1) Rajasthan School
(2) Mughal School
(3) Pahari School
(4) Ajanta Caves

Indian Art has originated from :
(1) Painting

(2) Rock Painting

(3) Scroll Painting

(4) Wall Painting

Which of the following is not a plastic
art ?

(1) Sculpture (2) Painting

(3) Music (4) Architecture
Which surface is wused for wall
painting ?

(1) Wall (2) Canvas

(3) Palm leaf (4) Paper

A painting made in single colour is
called :

(1) Casting
(2) Single picture
(3) Fresco

(4) Monochromatic



121.

122.

123.

124.

125.

oo R § orasas T8 ©

(1) =g (2) 9@
(3) =t (4) TR
i o di <1 @ e @
(1) (2) %%
(3) el 4) &

TEAIY & TN &1 el %9 71 8 7

(1) d o & off off o ai

(2) & o & S T o IR

(3) aE oME oMY ot & o a8

(4) ST 9@ o IR &t oTg &

T & O & el PHET & B B

T W

(1) a=efas 1, @fer @, siffesnd

(2) @ o, Slffessa 1, Ridfes 4,
et T

(3) dffftera 1, Rdfesd 1, amwufa®

(4) THafes &1, aewRes 1, @9 T,
Sffteena

T %l TEN e o F R € 0

(1) AeA 33eT
(2) I T_
(3) Ty
(4) eI
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121.

122.

123.

124,

125.

[A]

Oil Painting does not require :
(1) Knife (2) Easel
(3) Water (4) Turpentine

The mixture of blue and yellow colour
1s

(1) Red
(3) Black

(2) White
(4) Green

What is the correct order of the colours

in a rainbow ?

(1) VIBGORY
(2) VIBGYOR
(3) YIROBGY
(4) GYORVIB

Choose the correct chronological order
of evolution of colours :

)

Vegetable colour, Mineral colour,
Optical colour, Synthetic colour

(2) Mineral colour, Optical colour,

Synthetic colour, Vegetable colour

3)

Optical colour, Synthetic colour,
Vegetable colour, Mineral colour

“)

Synthetic colour, Vegetable colour,
Mineral colour, Optical colour

Ajanta caves are located in which
State ?
(1) Madhya Pradesh

(2) Uttar Pradesh
(3) Tamil Nadu
(4) Maharashtra

P.T.O.



[A]

126.

127.

128.

129.

130.

131.

‘TEAAIT EE’ ®
(1) s e 9

(2) SIFHERT et §
(3) T Al §
(4) TR et §

AT XA HT TH g
(1) & A
2) g J

3) T #
(4) d=T °

S T S B ¥ -
(1) 3% & &9 H

(2) 2o #

(3) dda
4) I T

o fomear § 9 [ @ Swm
fpemr M B 7

(1) 3@ @

(2) T

(3) d

(4) B T
frfafeg & 9 &9-91 @ &9 78 2 ?

(1) e
3) I&%

HI-IRaR it SR R
(1) o dro T A a|
(2) THRPHE S B

(3) AT A &

(4) I<d@ S 3N

(2) IHEx
(4) S0
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126.

127.

128.

129.

130.

131.

'Padampani Bodhisatva'is in :
(1) Bagh Caves

(2) Jogimara Caves

(3) Ajanta Caves

(4) Sigiria Caves

Amrita Sher Gil was born in :
(1) Hungary

(2) Mumbai

(3) Rangoon

(4) London

Water colour are available :
(1) In cake form

(2) In tubes

(3) Injars

(4) All of these

Which colours have been used in
Rajasthani Paintings ?

(1) Oil colour

(2) Tempera

(3) Wash

(4) Acrylic colour

Which one of the following is not a

cube ?
(1) Brick (2) Guava
(3) Book (4) A box

Santhal family sculpture is made by :
(1) D. P. Roy Choudhury

(2) Ramkinker Baij

(3) Asit Haldhar

(4) Nandlal Bose



132.

133.

134.

135.

136.

‘qfotepr W FM T ?

(1) fafs= < & Ml smn
(2) &

(3) A~

(4) HA & B: M

frerTTe & &1 S RN B o1 ?

(D) g
(2) gaE 59 fHe
(3) fee a=<

(4) A &EH

TS T el @ A e e

(1) aa fErer
(2) S
(3) H&H

4) a& REo

URYeT fhae Y T BT B 7

(1) @

(2) IR
(3) dte
4) o

FA H A A e ?
(1) @ @M 8g
(2) &9 &Y

(3) gt &Y
(4) e g
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132.

133.

134.

135.

136.

[A]

What is 'Varnika Bhang' ?

(1) Mixed shades of various colours
(2) Meditation

(3) Composition

(4) Six limbs of art

Who was
Kishangarh school ?

the famous painter of

(1) Surjan

(2) Swai Jai Singh
(3) Nihal Chand
(4) Abul Hasan

What is the medium of the Ajanta caves
paintings ?

(1) Oil Painting

(2) Water colour

(3) Fresco

(4) Fabric Painting

Perspective is divided into how many
types ?

(1) Two

(2) Four

(3) Eight

(4) Three

What is the role of 'Bhav' in Art ?
(1) Rhythm

(2) Change

3) Joy

(4) Expression

P.T.O.
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137.

138.

139.

140.

141.

TF 999 H §9 @ [kl |ag @ o
B & 7

(1) 6

(2) 4

(3) 2

“) 3

fafay R & el @ fuE SR
T R B e TR

(1) =ifess
(2) = =
(3) B
(4) ThERl

FHAH AT e~ Hal ©

(1) @ &\
(2) &9 3|
(3) =z
4) 3 g

Il 8 -

(1) TS

(2) M

(3) fafy

(4) FEERT & 78 IUgH qae

e & A F9-T@ Tde & T4
fepar Sram & 7

(1) dEr

(2) Fa|

(3) T

4) 3 g
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137.

138.

139.

140.

141.

How many surfaces of a cube can be

seen at a time ?
(1 6
2 4
3) 2
“ 3

The painting which is made by pasting
different objects is known as :

(1) Batik
(2) Print
(3) Collage
(4) Fresco

The
through :

(1) Lines

(2) Forms

(3) Colours
(4) All of these

artist can generate harmony

Vasli is :

(1) A technique
(2) A medium
(3) A method

(4) A suitable surface for painting

Which surface is used for Painting ?

(1) Wall

(2) Canvas
(3) Palm leaf
(4) All of these



142.

143.

144.

145.

146.

o OféT § -8 30 A g &
gaiferes feeror fopam o 2 7

(1) fa@

(2) Gl

(3) ™

4) =

A T B REbar B qed faQ
T

(1) STfecarn

(2) T

(3) HIEA

(4) FHIAT

TAE S ST ¥

(1) Rgg el (Fel 5 ) &
(2) SEAN el GEE B

(3) SMRTved & o6 e &
(4) % e B

@t & fhae g B § 7
(1) &gt @i

) did oSt g3 @

(3) THEHR W@
4) ¥ |

q fogell & 9" @ g0 W HE S
T

(1) ufrsed

(2) U

3) &9

(4) Y@
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142.

143.

144.

145.

146.

[A]

Which of the following gods or goddess
have been painted the most in the
Rajasthani Paintings ?

(1) Shiva

(2) Sati

(3) Ram

(4) Krishna

The main characteristic of Yamini
Roy's paintings is :

(1) Complexity
(2) Simplicity
(3) Softness
(4) Rigidness

Nandlal Bose was the chairman of :
(1) Vishwa Bharti (Kala Bhawan)
(2) Udyog Art Institute

(3) Oriental School of Art

(4) Kala Niketan

How many types of lines are there ?
(1) Vertical

(2) Horizontal

(3) Spirals

(4) All of these

The distance between two points is
called :

(1) Perspective
(2) Texture
(3) Form

(4) Line

P.T.O.



[A]

147.

148.

149

150.

AT T HT A q99 947 BT § 7

(1) &l

(2) J&

(3) ¥ &
(4) ST

TR T | oot @ qoie e e
(1) €1 & &9 ¥
(2) T % B9 H
(3) TR & &9 H

(4) UEdt & &9 H

dag R oftgw ’*F TN & &8 #H
BT R ?

(1) w2, fee, i, mef

(2) UTT, T, WIERRT, Sie

(3) R, WEf, i, ufeT

(4) w2fefT, osfe, ofd, s

WA 7 e 96R & @ B g
fpar 7 ?

(1) 10

2) 9

3) 8
4 5

[30]

147.

148.

149.

150.

What is the psychological effect of Red
colour ?

(1) Light

(2) Anger

(3) Sunshine

(4) Coolness

Nagari Das described Bani-Thani as :
(1) Sita

(2) Radha

(3) Nayika

(4) Parvati

Choose the correct order of oil painting

on canvas :

(1) Stretching, Painting, Framing,
Priming

2) Priming,

Painting, Framing,

Stretching
(3) Framing, Priming, Stretching,
Painting
€)) Painting,

Stretching,  Priming,

Framing

How many types of 'Ras' are mentioned

by Bharatmuni ?
(1) 10
@ 9
3 8
“ 5

Level-2/4208



OR & @
Ife T A SIET Wl Bl MR T & Al 3BT SR Tod
HHET ST |

6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

mﬁﬁﬁmm/¢aﬁmwaﬁ?ww$aﬁﬁmﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih sqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmwmﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
wrrmmélw@m%wﬁwwmmmwmﬁswﬁﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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